P-1

FHIVEIRZR K= (GOLD)
20164 114 14H (H) B F 2 ) =R TEEE
B HE BT 4 FE Uk-v:  ouT N
TR R - D@®EEDE®® I BIEIBIHIDIE)

HDCP_EFR (3B): 999.9  HDCP_L[R (£40): 999.9

& {7 K 4 TN Ay GROSS HDCP = NET =~ B )
' B AR B2 48 49 97  24.0 73.0

R P RK 42 51 93  16.0 77.0

3h FnE == 50 56 106 29.0 77.0

A BEHE A0 47 49 96 17.0 79.0

Y A S VAR~ =1 47 = 53 100 19.0 81.0

6L  KF BRI 45 49 94 12.0 82.0

AL W EHIA 59 53 112 30.0 82.0

8z =iE 1EE 44 49 93  10.0 83.0

oML BRI EHE 49 45 94 10.0 84.0

10 & HEH— 45 53 98 13.0 85.0

117 Bl BEsE 50 53 103 17.0 86.0 ”
1260 JIIR =B 51 50 101 14.0 87.0

13z KRt 8% 57 64 121 34.0 87.0

ST 64




